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SEW HW 1

1. Solve the following equations for z.

or —3 X —1) 1
mey e I 11z +2=-3(z —3)
4 2x2 3

x4+2 . _
X-3-6+2% _ x4 3% 49

4 3 1%+ 3% = 9_q
L—'qﬁ:'-l"= 9%'— = 12X-33 =9% +4 ‘ % =7
S 2% 4% = 3344 5 Bx =37 9“*‘%-2’_!.

2. Solve the following inequality. Graph your solution and write it in interval form.
|2z 45| < 3

s _5 -5
-3¢ +5<3 -8 {axq-2 -4 (x4~

~Y -1

3. A yard is 3 times as long as it is wide. 176 feet of fencing is needed to enclose the yard. Find the
dimensions of the yard.

L+W=88 @ 3W+W=88 — qw=88 ﬁW:%g_ :Qﬁ_l

4. Given the graph below of f(z), please answer the following.

a. State the domain and range of f.

11 Domain: 5xd » Rege:-9¢y ¢F

b. Find the following.
f0) =6 f@=-2 f6)=-6

c. For what z is f(z) = —97

X =-b
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5. You buy a car for $10,500, and it’s value (resale price) depreciates by $1500 per year. The value y (in
$) can be represented by y = 10,500 — 1,500z, where z is the number of years after your purchase
of the car.

a. How much will the car be worth after 2 years? x =2

—

g = los oo _ .}, 500 (2) . 1oy 5oo - 3,000 = £5o0

b. After how many years will it be worth $45007 Y= ¥,500

4,500 = 10,500 _|, 000X —s ;500X = 10,500 -4, 600

X = 60” = L{ ears .
: _ I, 50¢ _L_J
¢. Determine the y-intercept, and interpret its meaning in this context.

W— int + 1026500 ,-—b- (02 lo, 500)

2 =l

| The :’Purcha.ge Fn'c.e X < -0 i or,‘a;,m_Q price wrth no Jepraduﬁ;"- -

d. Determine the z-intercept and interpret its meaning in this context.

[xonb? | s (F50) g=o —1o500-1500%=0 »x=F

It "—rfesud‘s +he Hime 'vaft ‘H'u, car has zero Vn.\vte..

e. What is the slope, and interpret its meaning in this context.
S\oulu : — 1500 annual P'r:u. Aapre,cf_ah'on

\" COE'F'Fl‘C;En'\— AP % w The cqwﬂ'a;“.

f. Sketch a graph of y = 10,500 — 1,500z
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